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1 >f]t -1=1 b]lv 1=4 ;Dd_  1,814,892  1,795,537  17,251 
1=1  r'Qmf k'+hL  1,750,000  1,750,000  13,825 
1=2  hu]*f tyf sf]if   57,008  45,537  3,426 
1=3  hLjg aLdf sf]if  7,884  -  - 
1=4  ltg{ af+sL bL#{sflng C)f tyf ;fk^L  -  -  - 
2 pkof]u -2=1 b]lv 2=6 ;Dd_  1,814,892  1,795,537  17,251 
2=1  l:y/ ;DkQL -v'b_  14,787  1,380  - 
2=2  bL#{sflng nufgL tyf shf{  979,953  884,876  - 
2=3  aLdfn]vsf] lwtf]df shf{  -  -  - 
2=4  v'b rfn' ;DkQL -3–4_  820,152  909,281  17,251 
2=5  ckn]vg jf ;dfof]hg x'g af+sL ljljw vr{  -  -  - 
2=6  gfkmf gf]S;fg lx;faaf^ ;f/]sf] gf]S;fg  -  -  - 

v'b rfn' ;DkQLsf] ljj/)f
3 rfn' ;DkQL shf{ tyf k]ZsLx? -3=1 b]lv 3=3 ;Dd_  921,925  922,202  17,344 
3=1  gub tyf a}+s df}Hbft  14,492  26,553  17,344 
3=2  cNksflng nufgL tyf shf{  851,019  862,140  - 
3=3  cGo ;Dklt  56,414  33,509  - 
4 rfn' bfloTj tyf Joj:yfx? -4=1 b]lv 4=4 ;Dd_  101,773  12,921  93 
4=1  rfn' bfloTj  43,881  8,920  93 
4=2  c;dfKt hf]lvd jfkt Aoj:yf  49,395  -  - 
4=3  e'QmfgL x'g af+sL bfjL afkt Aoj:yf  -  -  - 
4=4  cGo Aoj:yf  8,497  4,001  - 

gfkmf gf]S;fg lx;fj
1 cfDbfgL -1=1 b]lv 1=5 ;Dd_  84,883  50,823  - 
1=1  cfo Joo lx;faaf^ ;f/]sf]  -9,196_  -  - 
1=2  hLjg aLdf sf]ifaf^ ;f/]sf]  -  -  - 
1=3  nufgL shf{ tyf cGoaf^ cfo  94,079  50,823  - 
1=4  Joj:yf lkmtf{  -  -  - 
1=5  cGo cfDbfgL  -  -  - 
2 Joj:yf tyf vr{x? -2=1 b]lv 2=8 ;Dd_  33,400  10,810  - 
2=1  Joj:yfkg vr{  8,761  6,809  - 
2=2  ckn]vg vr{  -  -  - 
2=3  cGo vr{x?  -  -  - 
2=4  gf]S;fgLsf] nfuL Joj:yf  1,734  -  - 
2=5  sd{rf/L cfjf; Joj:yf  -  -  - 
2=6  sd{rf/L af]g; Joj:yf  6,763  4,001  - 
2=7  ;dfof]lht cfos/  16,142  -  - 
2=8  hLjg aLdf sf]ifdf ;f/]sf]  -  -  - 

v'b gfkmf/-gf]S;fg_ -1–2_  51,483  40,013  - 


1 cfo -1=1 b]lv 1=7 ;Dd_  69,746  -  - 
1=1  aLdfz'Ns -v'b_  63,801  -  - 
1=2  k'gaL{df sldzg cfo  -  -  - 
1=3  nufgL, shf{ tyf cGoaf^ cfo  5,945  -  - 
1=4  aLdfn]vsf] lwtf]df shf{af^ cfo  -  -  - 
1=5  cGo k|ToIf cfo  -  -  - 
1=6  o; aif{sf] z'?sf] e'QmfgL x'g af+sL bfjL afkt Joj:yf  -  -  - 
1=7  o; aif{sf] z'?sf] c;dfKt hf]]lvd afkt Joj:yf   -  -  - 
2 Joo -2=1 b]lv 2=10 ;Dd_  71,059  -  - 
2=1  bfjL e'QmfgL -v'b_  980  -  - 
2=2  clestf{ sldzg  2,461  -  - 
2=3  :jf:Yo k/LIf)f z'Ns  21  -  - 
2=4  k'gaL{df sldzg vr{  -  -  - 
2=5  ;]jf z'Ns -v'b_  638  -  - 
2=6  cGo k|ToIf vr{  -  -  - 
2=7  Joj:yfkg vr{  17,564  -  - 
2=8  cfos/  -  -  - 

2=9
 o; cjlwsf] cGTosf] e'QmfgL x'g af+sL bfjL afkt 
Joj:yf 

 -  -  - 

 2=10  o; cjlwsf] cGTosf] c;dfKt hf]lvd afkt Joj:yf  49,395  -  - 
3 jrt -1–2_  -1,313_  -  - 
3=1  hLjg aLdfsf]ifdf ;f/]sf]  7,884  -  - 
3=2  gfkmf gf]S;fg lx;fadf ;f/]sf]   -9,196_  -  - 

cGo ljj/0f
1  s'n aLdf z'Ns cfh{g /sd  76,114  -  - 
2  s'n sfod /x]sf] aLdfn]vsf] ;+Vof  15,075  -  - 
3  s'n hf/L aLdfn]vsf] ;+Vof  15,075  -  - 
4  #f]lift d'gfkmf -jf]g;_ sf] b/ -k|lt xhf/_  -  -  - 
5  cGtl/d d'gfkmf -af]g;_ sf] b/ -k|lt xhf/_  -  -  - 
6  s'n bfjL e'QmfgL /sd  1,400  -  - 
7  s'n bfjL e'QmfgL ;+Vof  1  -  - 
8  e'QmfgL x'g af+sL bfjL /sd  -  -  - 
9  e'QmfgL x'g af+sL bfjL ;+Vof  -  -  - 


1= n]vfk/LIf)f gePsf c+sx? lgodg lgsfosf] lgb]{zg tyf n]vfk/LIf)f kZrft x]/km]/ x'g ;Sg]%g .
2= ;fdfGo DofbL hLjg aLdfn]vsf] c;dfKt hf]lvd afkt Joj:yf ;dfg'kflts lx;fjn] /flvPsf] % . aLdf+lso d'Nof+sg 

k|ltj]bg k|fKt ePkZrft ;f]xL adf]lhd x'g]% .  
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